Moto-All.ru

CIIMCOK JOETAJIEU [IJId "REWIND STARTER, ELECTRIC STARTER" BRP

TRAXTER XL 7458

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

05Ta0202



CITMCOK OETAJIEY NI "REWIND STARTER, ELECTRIC STARTER" BRP

TRAXTER XL 7458

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 711632190 Cpok mocraBku oT 19 gHed Needle Cage
2 711634941 Cpok moctaBku 0T 19 gHel Ring Gear (65 Teeth)
3 711244290 Cpok mocTaBku oT 19 mHei Thrust Washer
4 711852501 Cpok moctaBku 0T 19 nHel Starting Pulley
5 711650710 Cpok noctaBku 0T 19 nHel O Ring
6 711241720 Cpok noctaBku oT 19 nHel ZH(? x. Flanged Screw M8 x
. Rewind Starter Ass'y.
7 711296150 Cpok noctaBku 0T 19 gHeln Includes 7 - 19.
7 711241730 Cpok noctaBku 0T 19 gHel Screw Plastite M6 x 20
8 711244320 Cpok noctaBku OT 19 mnHel Flat Washer
9 711938989 Cpok noctaBku 0T 19 gHel Locking Spring
10 711847927 Cpok noctaBku oT 19 nueit Stage Sleeve
11 711852306 Cpok noctaBku 0T 19 gHel Pawl Lock
12 711852299 Cpok nmoctaBku 0T 19 nHeit Pawl
13 420852070 Cpoxk mocTaBKH 0T 25 AHel COIN *CLAMP-KEY
POULIE
14 420852283 Cpok mmocTaBku 0T 25 gHel DEMARRAG*SHEAVE-ROPE
(PULLEY
15 412500100 Cpok mocrask ot 19 mHe Starter Rope 2200 mm
(Meter)
. RESSORT RAPPEL
16 420939115 Cpok IocTaBKH 0T 25 gHel *SPRING-REWIND
17 711211960 Cpok noctaBku 0T 19 nHel Starter Rope Housing
18 711241861 Cpok nocTaBKkHu OT 19 mnHel ZH(? %. Flanged Screw M6 x
19 711852515 Cpok noctaBku oT 19 nHel Starting Grip
20 711241941 Cpok noctaBku OT 19 mHel glg %. Flanged Screw M6 x
21 711296125 Cpok noctaBku oT 19 nHelt Electric Starter Ass'y
21 420266295 CpoK IoCTaBKH 0T 25 AHeU BRUSH KIT
21 420250140 Cpok mmocTaBKu 0T 25 nHel JOINT TORIQUE *O RING
21 420250130 CpoK IoCTaBKH 0T 25 AHeU OIL SEAL
22 711229470 Cpok moctaBku 0T 19 nHeit Cylindrical Pin M10 x 65
23 711634970 Cpok mocTraBku oT 19 gHed Double Gear 15/67 Teeth
24 711227620 Cpok moctaBku oT 19 gHel Thrust Washer
25 711847485 Cpok noctaBku 0T 19 nHel Spacer
* _
26 293800060 CpOK IIOCTaBKHU OT 25 fIHeH 12“23(: TITE 243 *LOCTITE
. MOLYKOTE PG 54
27 420899763 Cpok 1mocTaBku 0T 25 gHEH *MOLYKOTE 54
28 711297616 Cpok mmocraBku oT 19 gHen Klueber Grease, 60g
29 XXX Cpok noctaBku OT 21 mHS He mocTaBnsercs







